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No. of Questions : 100
UY F HEE : 100
Time : 2 Hours Full Marks : 300
T 2 yod quiE : 300

Note : (1) Attempt as many questions as vou can. Each question carries 3
(Three) marks, One mark will be deducted for each tncorrect
answer. Zero mark will be awarded {or each unattempted
question.

ﬂmﬁmaﬁﬁwﬁmmﬁnﬁm%a(ﬁ)
WH%:WWW%W@WWW;
nﬁmagﬁﬁamwmﬁﬂramr

(2} If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

q&wﬁmmm@w%ﬁmmﬁ,ﬁrﬁw

HE 3UT T
01. Kautily's treatise entitled "Arthashahtra” ig an -
(I) Economic Policies {2) State craft
(3) Internafional relations (4) Ethics
BfeT 1 “orefarem A oo B -
(1) onffs Hifergt qv (2) I DI 97

(3) FroUsy T gy (4) ifsme Uy

02. Who amongst the following is cailed the “light of Asia" ?
(1) Mahavirg (2) Budha
(3) Akbar (4) Ashoka

3 o P.T.0.
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03.

08.

06.

P g fraa CuRen @ g @e T 8 7

(1) HEER H 2) §| W

(3) THAT F (4) HAIH B
Light year is related to :

{1} Energy (2) Speed

(3) Distance (4) Intensity
weRTsT T TR B

(1) S & 2) W |

@) TR (4) dmET |/

Who amongst the following invented steam engine ?
{1} Marcose (2) James Watt

(3) Thomas Savy (4) Wright Brothers
qq = A AR P A A RReA e e 7
(1) WeRE A (2) g dfT A

(3) =m=E A A (4) Tge THA A
Which of the following is not a basic colour ?

(1) Blue _ (2) Green

(3) Red (4) Black

Py & & @ qoae <0 a8t B 7

(1) Arm (2) &

(3) ®& (4) RIS

In an earthen pot cocling of water depends upon :

(1) Out side temperature (2) Atmospheric humidity
(3] Wind (4) All of the above
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@%ﬁ%ﬁﬂﬁmméﬂﬁﬁm%:

(1) I’ F agne gv (2)  IIFHSHAR Tt gy

(3) g e (4) I9GFT w9 g7
07. First metal used by man was ;

(1) Iron (2] Copper

(3] Gold (4) Bronze

AT BT 99T A 1 gecd eng efi

(1) rer (2} faEr

(3) @ (4) i
08. When water boils, its temperature

(1) begins to increase (2) begins to decregge

(3) remain constant (4) Fluctuates

T O SSerET @ a9 w9 agnrT

(1) =P 7 & (2) 99 @ B

(3) fax wEar & (4) SEET Tem B
09, Fa- hiyan came to India during the reign of :

(1) Ashok (2) Chandregupta I

(3] Harsh (4) Kanishka

FoRE e B G- i snar o

(1) H9few B (2} ==Tw faei

(3 B F (4) =fT=R &

lul

Which vitamin is found only in animal food product but not in
vegetable food product ?

B g el faw Ao 309 F frerer & =T Ao
ST T T8 P 3 0 Bt

1) ¢ 2) B, @) A (4) K

6 P.T.O.
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11.

12.

13.

Which of the following is a physical change ?
{1} Burning of cooking gas

(2) Souring of milk

(3] Digestion of food

(4) Dilution of sugur into water

fre & @ -1 o Aifow oREds 8 7

() @ I wm AT (2) T H WE BT
(3) WIS & gEEAl (4) = @ 9T A g
Who amongst the following is known as [ndia's Napolean ?
(1] Samundragupta (2} Chandraguptal
(3] Chandragupta Il {4) None of them
Frar & § A 9Ra B A § w9 & S ST BT
(1) WHRI< (2) ©FEIST AYH
(3) ==EIw frim (4y =t § o FE
Land revenue in Mughal India was a : |
{1} Tax on Land (2) Share in the products
{3) Tax on cultivator (4) Tax on owner of land
e W ¥ qIOoRE 91 O
(1) 4H 9T &+ (2) S ¥ wrfErd
(3) HIF T FHT (4} YET 9T T

14, The source of solar energy is :
(1) Nuclear friction (2) Nuclear fusion
(3) Sinking of the Sun (4) None of them



15.

16.

17'

18.
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(i) -l Rgees (2) FHBY T

3) T = Regsen (4) 7 J B 4
The first stayagrah campaign of Gandhiji was started in :
(1) Champaran (2) Bardoli

(3) Dandi {4) Baroda
ﬂfeﬁ@hzsrqaarﬂmaaﬁﬁa#mganm:

(1) === § (2) I F

(3) ==t | (4) sSi|T &

Whe amogst the following presided over the inaugural session of the
constituent Assembly ?

(1) C. Rajagopalachari (2) Jawahar Lal Nehru
(3) Sachidanand Sinha (4) B.R. Ambedkar

(3) itV fg=er 3 (4} FexTRo sr=mHT
Which country award the Nobel Prize 7

(1} America (2) England

(3) Sweden (4] Ireland

ST R FI-1 297 S5 ey ¥ 7

(1) om@fiE (2) THvs

(3) wiEw (4) SRR

Indian constitution is regarded as :

(1) Federal

(2) Unitary

(3) Parliamentary
(4) Federal in form and unitary in Spirit ;

7 P.T.O.
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znl

21.

g d@Ey= amr o ¥ o

(1) =g

(2)

(3) HEdM™

4] @Eg ¥ Ay T aren | o

In a parliamentary system te whom the executive is responsible ?

(1) President (2) Legislature

(3) House of the people (4) Judiciary

ok HEdE gonelt § s Sear Sl o

(1) Tregfe (2) ferenfamy

(3] TFH G (4} —graqifEEsT
Which type of Legislature is found in Goa ?

(1) Unicameral (2) Bicameral

(3) Poly cameral (4) None with abave
war # B weEe & Bae wese amr s & 7

(1) % w&dEa (2} fEegeg

(3 9g "=Am (4) TIdwy # { FE T

Which of the following book was written by Jawahar Lal Neharu ?
{1) A Passage to India

(2} My Experiments with Truth

(3) India Wins Freedom

(4) The Discovery of [ndia

v & ] -9 Qs sael a0 qes mw Rrel ¥ v
(1) ¢ U&= g shean (2} W TFEAReew RBw gg
(3) zfv=wr fasg wEw (4) & Ferah Ot givear
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23.

29.

25.
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Which of the foliowing games is Davis Cup assosiated with ?

(1) Volley Ball (2] Badminton

(3) Tennis (4) Hand Ball

SRH 9 P F | g AW A wafum © 7

{1} Qe 2) Fsf=es

(3) 2fm {4) Bvgam

Which state has highest literacy rate in the country ?

(1) Goa (2) Kerala

(3) Tamil Nadu (4) Karnataka

e a0 # grrer o7 39 F wEd ofem B 7

(1) ar (2} =T

(3) afE-Tg (4) Hifew

Ex-officio chairman of Rajya Sabha is :

(1) President (2) Vice President
(3) Prime Minister (4) None of the above
T WA H R e ¥

(1} gty (2) Sorgafy

(3) st (4) IvgderT ¥ ¥ B T

Which of the following Cricketer has to his credit tripple century in
test matches ?

(1) Sunil Gawaskar {2) Sachin Tendulkar

(3) Virandra Sahavag (4} Rahul Dravid

P & @ fom PR Taemdt & amy e &er & ey oo B 7
(1) GART TTEwhT {2) afaw dgat

(3) #= "Earr (4) Ugw =fas

S P.T.0.
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26, Indian state with largest electorate is :

(1) Bihar (2) U.P.
(3) Karnataka (4) Rajasthan
99 HfeeF AagmET 99 Adg T B o
(1) Rmrc 2) IET W=
(3) HAICH 4) e

27. Two words "Sociologist’ and "Secular” were a word to the Preamble of
that constitution with which of the following Amendment ?

{1} 44th (2) 42nd {3) 32nd (4) 9th

2 = EETAETE’ ggr Cdy Prde” d@itaer & gemesn 8 B
A3 R He @ 2 /@ & 7

{1} 44 (2) 42F 3) 32% (4) o

28. Which of the following is the biggest employer in India ?
(1) Food cerporation of India
(2) Post and Telegraph Department
(3) Indian Railway
(4) Steel Authority of India

Frr # & 9 IR F 959 997 PraRe B 7

(1) wreda T Frm (2) == T ar R

(3) G ¥@d (4) W T SRR
29. Right of property is a :

(1) TFundamental Right (2) Directive Principle

(3) Legal Right (4) Social Right

T T AT ® O

(1) #iferes siftmmre (2) Py faara

(3) Ry sfEEsr (4) qmferE HAREpI

10
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30. The Lok Sabha secretariate comes under direct supervision of the :

31.

32.

33.

(1) Ministry of Home Affairs

(2) Ministry of Parliamentary Affairs
(3) President of India

(4) Leck Sabha Speaker

e w9 qtaeg @ gedE3wer F &
{1} T& A9 B (2) o4 T Haeg &
(3) WG & Usgufy & (4) ¢ dWT ITeET

Public Administration relates to the activities of :
(1) Central Government alone {2) State Government alone

(3) Local Government alone (4} All the three
Feh 9eTEs Tafag ® aiafaiet |

(1) &= G0FR & (2) TG IR B
(3) T TR & (4) 9 A B

Who amongst the following is called the Father of American Public
Administration ?

(1} Woodrow Wilson {2) L.D. White

(3) Goodnaw . {4) Willonghby

frr 7 | fewept aTAREY T 99T & o ET AT B 7
(1) g e (2) uw.d. =T

(3) TETIS (4) et

Which of the following is met an early contributor in Public
Administration literature ?

(1) White (2) Willonghby

(3) Wilson (4) Waldo
Wﬁﬁmmnw%ﬁmﬁmwm
[1]- B/IET (2) el

3) faem= (4) TS

11 : P.T.O.
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34. Politics Administration dichotomy is concerned with which phase of
evolution of Public Administration ?

(1) First (2) Second

(3) Third (4) None of the above

oI - HTEA fEwe &t gsved & R # ey orgey &
Tafag 8 7

(1) 5¥H (2) &y

(3 g (4} w7 |/ g o

35. Which of the following statement is wrong ? _
(1) Public Administration relate to the activities of the Government
(2) Publiz Administration is a social science
(3) Public Administration is a pure science
(4) All of the above

Fr=r & | S-97 e ey &7

(1) @ S9TET @ WY qTESE araiat a4 &
(2} @I 9TEE USh HOHOE fawe R

(3) I UIEW U g e B

(4) I T
36. In POSDCORB letter 'P' stand for :
(1) Palicy (2) Public
(3) Planning (4) Personnal
oeEme 7 fY e 3 ot R
{1y oyt {2) uiAH
(3) I (4) wTE-r
37. Which of the foliowing is not a feature of Public Administration.?
(1) Service motive (2) Profit mative
(3) Palitical direction (4) Accountability

12
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=1 d @ & &l gemEs 1 g T8 2 P
(1) F=m iy (2) T =g
(3) Tor+fifes Frde (4) STEERE

- The system Approach to the study of Public Administration is

borrowed from :

(1) History (2) Engineering

(3) Politics (4) None of the above
Wi TN & HAAT T qaREN IUPTT Rerr T R

(1) sftrera | (2) cREfEET |

(3) T & (4) SUg=a 7 & A 7

According to traditional writers the scope of Public Administration
18 :

(1) restricted to the executive branch oniy

(2) extended to the legislation and executive branch only

(3} related to all the three branches of Government

(4) None of then

(2} Fam =geniys g9 FENEE g%
(3) smaET B AT omEeh O
4) T |§ FHE T

Who amongst the following is not a supporter of the managerial view
of Public Administration ?

(1) Luther Gulick (2) Harbart Simon

(3) Thomson (4) Likart
ﬁﬁﬁﬁwﬁmnw%wﬂmmmmm
(1) TquT 7rE (2) H&F qEae

(3) oHET (4 R

13 P.T.O,
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41.

43.

Who amongst the following ix the author of the book entitled "Intro-
duction to the study of Public Administration” ?

(1) Willonghby (2) Dimock
(3) White (4) Wilson

‘gElgE T ¥ wEl olF uiew st aq’ 9w guE B

dEE P s AP E 7
(1) o 2) fits
(3] =|== 4) PRas

. Which of the following distinguates between Public and Private Ad-

ministrabion ?

{1} Techiugue (2) Profit Motive

123 Public Accountability (4) Legal Constraints
=t # | S @i o el qeres § Ag e ® 7
(1} e (2) N SgEE
(3) 6 FAaTEREr (4) faftrs epfeeeey

Who amongst the following has argued in favour of similarity
between Public and Private Administration ?

(1) Wilson (2) Fayol
(3) Dimock (4) White
gf?ﬁﬁﬁﬁ@mmmwﬁﬂnmﬁmww
fl]l feree= (2) Saw
(3] =HtE (4) =ES

Which of the following is not a amilarity between Public Administration
and Private Administration ?

(1} Social Services (2) Scientific Services
(3] Political Direction (4) None of them

14
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?ﬁﬁ%ﬁ?ﬁmmmmﬁﬁmﬂmmm

(1) \rFTHE Jard (2) SsnfrE &

(3} T Frdem (4) TugFa & & B 7k
Which of the following is not true about Private Administration
(1) It is efficient (2) Itis profit orientaed

{3) Itis red tapist (4) None of the above
Fei oy s g AP A A f ol Tft & 7

(1) T8 FHer & (2) W& @MW IE B

(3) ¥® TIHIETSTE e ¥ (4) Sudea & & g w4

In 1968 the Minnowbrock conferance at Syracuse University was
spensored by :
(1) Frank Marini (2) George Frederickson

(3) Some Young Administration (4) Duight Woldo

1968 # fererergst faeafemera § felgs aes & o= 3w
aqr -

ill.ﬁﬁﬁmﬁﬁl% (2) T wefEreT 3
(3) = Far wewrEH A (4) FEET gESt A

Which of the following is mot concerned with New Public
Administration ?

{1} Neutrality (2} WValue

{3) Charge (4} Reliance

P & § @9 =9 &t gemaa & gafua il 8 7
(1) et (2) I

(3) qftads (4) Surdgem

156 P.T.0.
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48, Which of the following authar have not contributed to New Public

491

30.

51,

Administraton ?

(1) Duight Waldo (2) Frank Marini

(3) Fere! Heady {4) Gerald Caiden
gr?ﬁﬁ%ﬁﬁm%ﬁaﬁﬁzﬁnwwzﬁ?mﬂﬂmﬂ
i1i1 FaATSE awe] {2) B=5 FIFR

(3) FyA B (4) SiUeE 2B

Which of the following is a concern for Ecology in Public Administra-
tion ;

(1} Culture (2) Economic System
{3 legal system (4) All of them

Fret & & S o gomas & wiRfafad & admc ¥ 7
(1) Hepher (2) oniRie =were

(3) Tafers argwer 4} a4

The Ecalogy of Public Administration' is written by :

(1] Max Weber (2] John M, Gaus

(3] F.W.Riggs (4) Abrahan Maslow
‘ﬁyﬁmmm@ﬁrﬁ@m’wwéms:
(1) 3y =7 (2) 99 . Iy

(3] u%. s=q. g (4) umTEw At

Who amongst the following has not contributed in the literature of
Ecology of Public Administration ?

(1} Riggs (2) Walde (3) Gaus (4) Weber

ﬁmwaﬁqﬁﬁuﬁaﬁwﬁﬂﬁmﬂﬁwﬁﬁﬁmﬁ
aRrEE el Bear B 7

(1] g (2) ar=EY (3} M| (4) =T

16
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57. Which one of the following is not associatal with Scientific Manage-

ment?

(1} Task Specialization (2) Rule of Thumb

{3) Sharering of Profit {4) Divisions of work

Frr 7 & & Jenivrer gove & wafaa woff & 2

(1) = RsrasfierTer (2} oS = Frw

(3) H W wARiETa (4) = s
$8. According to classical Theory, people are motivated by :

{1} Group Pressure (2) Social inclutives

{3) Cash Reward (4) None of the above

TN fHerT & SAEAER o oftnRa A ¥

(1} @9 9= 4 (2) iR o §

(3) & gTERT § (4) I9gdEt # | o T8

59. Which of the following is net true about scientific management ?
(1) It emphasises on increasing productivity
(2} It emphasises on scientitfic selection of personal
(3) It facuces on increasing profit
{4) It emphasises on inter personal relations

Fre 7 @ a1 donfoes govar @ Toeeey & @) i & 7
(1) 98 IeaEshal §2 9 =9 397 B

(2) I& wItR & Jsmies =99 9v a9 3ar B

(3) 4& ®Y @M 9T &9 a7 B

(4} W& GRS W= 9T oo a7 B

60. Which of the following is not a features of Classical Theory ?
(1} bswarchs (2) Division of work
(3] Bias {(4) Impartiality

18
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e 3 &9 grealis fera w o 8 & 7
(1) 9TEN (2) T4 fawEH
(3) gaime (4) SEAPTET

In Weber's theory :

(1) Authority it is based on coercion
(2) Authority it is legitimate power
(3) Authority it is iliegal power

(4) All of the above

¥ & 9o H

(1) Wifep g=9| 9¥ Smaia &
(2) wiftrRre 3y sifd B

(3) wWImRrT 3dy ek &

(@) IIdET @A

One of the following is mot an attribute of Weber :

(1) Rationality (2) Division of work
(3) Sub fiction of (4) Throaty

Prer ¥ & wep J9C A Rrdroen wdt ®

(1) Trdemsfierar 2) Fd Feem

(3) HATHIIHAT (4)

The Human Relations theory emphasises on :
(1) Formal structure of the organisation

(2) Informal crganisation

(3) Cver specialisation

(4) Rule and regulation

A g e 9@ 9 2
(1) @@rza & Ag=nfs @
(2} e @ 97

3) feiErsdiesTer 9T

4y Pt wd Rt )

19 P.T.O.
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64. According to Human Retations theory productivity is affected by :

65.

66{

67.

{1} condition of work alone (2) Economic factors alone
(3) Social psychological factors {4) None of the abave

A {9 e & AqE Ienaeh SeTe aet &
(1} %hae FrdRefy §

(2) Bae e mat @

(3) WIS - A5 ie srEt )

(4} SR H A R T

An important advocate of behavioura] approaches is :

(1) Taylar (2} Gulick (3) Weber (4) Simon
HTENFHN IUFTH & OF Teaqel qapge &

(1) e (2) féres (3) =T (4) ¥EHA
Two Factor theory is related to -

(1) Maslow (2) Hozberg

(3) Mccliland (3} None of the above
fapren formr=r qrafem 3 .

(1) ==y & (2) ®omet §

(3] Pefdve 3 (4) SUgdwT & |/ Bf a4t
Which of the foliowing theory says that leader are born then not ?
{1} The Trait theory {2) The situational theory
(3) The Graclman theory (4) Non of the above

ﬁwgfﬁmmm@ﬁﬁm%ﬁsﬂmﬁwﬂmtmw
W ® T

(1) = e (2) wftfRuferg R
@) WM I e (4) Ivda A & HE it

20



68.

69.

Ti.

15P/284/3

Which of the following pair is not correctly matched ?

(1) Scientific Management - Taylor
(2) POSDCORB - Urwick
(3) Hawthorne Experiment - Mayo

(4) Theory of Domination - Weber
Pt § & dfiv-wr g od it 8 ¥ 7
(1) Fefre o= - &R

(2) UEEHE -3ide®

{3) s sERT k]l

(4) 99= F =g &Y

According to simon & science of Public Administration can only be
built on :

(1) Facts only (2) WValue only

{3) Both Facts and value (4) None of the above
m#%%mgﬂﬁﬁmmm%ﬁﬁmﬁﬁqﬁwﬁﬁa
Hehedl :

(1) e Teat Ox (2) FHae gEat O

(3) == ud g & 9 (4} SugE # ¥ i A
Systems approach is also known as :

{1) Contingency Theory (2) Integration Theory
(3) Ecology Theory {3) Modern Theory
ST IJINTH ST ART & 59 A9 o W :

(1) s fEra (2) ushtpa Fasr

(3) uwifafer fowra (4) ygfER R
Decision-making theory is associated with :

(1) Henry Fayol (2) Eltion Mayo

(3) Herburt Simon (4) Woodro Wilson
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fefg - Fmior e & aeg 8

(1) 78 odw | (2) s A |
(3) BY=E wEHE d (4) TE Rwew A
72. Span of control is also known es :
(1} Span of Attention (2} Span of Management
{3} Span of centralisation (4) Span of decentralisation
sy 1 & 9T o ® 39 A | W
1) &9 @ 8§ (2) weE" T &
(3) @R F A (4) =TT &= 8=

73. Who amongst the following considered co-ordination as a separate
function of management ?

(1) Moonesy (2) Fayol
(3) Tead (4) All of the above
frr % & Rreq @99 &Y 990 %99S Hd W R O?
(1) (2) &
(3) (4) =udmr a9t
‘T4. The communication that passes across different department refer to :
(1) Upword Communication {2) Downword Communication
(3) Lateral Communication (4) Oral Communication
% HAX o FH3 A § €ar ¥ wwemn ¥ -
(1) FHeeli d=e (2) STIRTIAY EeErX
(3) Trfdds Hu (4) wfEw g
75. Grapewine refers to !
(1) Formal Communication (2} Informal Communication
{3) Written Communication (4} Downord Communication
‘Fyargs’ wEfag & -
(1) <firgenfs §9X & (2) oFIqenfiE dax |9
(3 Toifag @wr § (4) SEFT dw |
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Stalf agencies are usually organised on the basis of one of the follow-
ing principles :

(1) Purpose (2) Process (3) Persons {4) Place

M= 7 4 o e @ oar o = R s
e BRa o ¥ -

(1) SR¥T (2) "hF (3) @ 4) @™
Line agencies serve :

(1) Staff Agencies (2) Auxiliary Agencies

{3) Public (4) Officers of Government
g ATHOT W o ©

(1) *=I% SAfHFTeT it (2) wWErEEs FAfrERer &
(3) & (4) T FEHAT H
Who of the following formulated the theory of Hierarchy of Needs ?
(1) Likert (2) Mc Gregor

(3) Herjburg (4) Maslow

= 7 & fFe omasgear e @ s Rl Rt 7
(1) s (2) AR A

(3) ®&stEt = {4) W A

The service of communication is :
(1) Transmitting Information (2) Sharing Information

(3) Imparting Knowledge (4} Sharing Understanding
HEIT T @Y T

(1) I H TG (2) g H W

(3) & & (4} |HT & Wi
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80. Which of the following pairs is not correctly matched ?
(1) Authoritarian Management - Theory 'X'

(2) Fact- value Dichotomy - Simon
(3) T- Group Training - Likert
(4) Managerial Approach - Fayol
e & & fr-a1 g wd gafner ol & 7
(1) Y ey - FErm X
(2) F-qge T - AEAA
(3) Er-waE afirerer - e
(4) HEyFHT Ivrm ~ Bgr

81. Which of ti:e following is net in Rigg's 'Sala' Model ?
(1) Heterogeneity (2) Formalism
(3) Homogeneity (4) Over lapping
Fom & e aftme & ey 3 § o mft & 7
(1) e (2) Gferars
(3) CTHEI (4) e BEw

82. According to Weber, Bureaucracy is the form of ;
(1} Traditional authority (2) Rational legal authority
(3) Charismation authority (4) Political authority

A F AR Nt w weT ¥
{1) I=REE Wi & (2) P fafs sftesre =
(3) HRwd mrfirpre (4) TS mitEeTc v

83. In the opinion of Weber
(1) Power and authority are one and the same
{2) Authority differs from power
(3) Autherity is physical Constraint
(4) None of the above
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FeT D Ag §

(1) |am od Wiy o ok 99 &
(2) mWftrepT e | M 2

(3) uifgm Hifgs z e 2

4) Sugw # § w7t

Which of the following is mot true about Weber's bureaucracy ?
(1) It is most rational

(2) Itis an ideal form

(3] It depend upon personal traits

(4) None of the above

Fr # & o0 397 & Tewdl & gery § gd i & ?
(1) 98 =g faa=t 2

(@) T® TFH G &9 B

(3) W& R O 9T omwIia B

(4 Sudaa # ¥ i Tl

Max Weber was "

(1) An Economist (2) A sociologist

(3) A Historian (4) None of the above
B Y o

(1) & srefarresdt (2] TF FETAE

(3) wH sRBRIERR (4) IgH ¥ & FE TH
Max Weber was originally :

(1} A French (2) An American

(3) A German (4) None of the above
e J8Y yoew § ;

{1) T SEET . (2] UF AR Or

(3} T STHAT e (4) Sgm F |/ Fd Tt
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90.

In Marx's theory Bureaucracy represents :
(1) The general interest

i2) The interest of the weaker sections
(3) The interest of demirant class

(4) None of the above

e 3 e ¥, freandt ofafiie s &
(1) "= fea @ (2] HIAT P F a
(3) STEETET e & (4) I9gdFT # |§ a1 T8

For Marx, Bureaucracy is :

(1} Detached from the state

(2) Independent of the state

(3) Inseparable from the existence of the state

(3) None of the state

(1) T § 7T B (2) U9 § =g ¥

(3l T F R § A Y (4) aude F ¥ B

Which of the following thimkers has contributed to the literature of
Bureaucracy ?

(1) Weber (2} Marx

(3) Michal {4) All of the above

T e o¥ e & @ fre R Y g Rar
(a9 (2) wTFd

(3) HEES | {(4) SRR WY

Which of the foliowing is true above Bureaucracy ?

(1) 1t is hierarchical

(2) 1t is rational .
(3) Itis common to Government and Non Govcrnmenf organiseation
(4) All the above
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W%Wmﬁﬁwﬂﬁﬁqw%?
(1) 9% gegafaes &

(2) = a2

B) & R qur T g @At ¥ gwe 3

(4) Sugwr |ed

In the modern state according to Weber, one of the following is not
an important causes for the growth of Bureaucracy ?

(1) Emergence of mass democracy
(2) The spirit of protestant ethic
(3) The growth of capitalist system
{4} The officials desire of power

A T F, AT B AR, B T @ o Heomd @
ToRbre =1 ooy ol B 7

(1} e @Ha=T 1 o«
(2) "R~ Hifayes 2 ener
(3) Yoftemdt =raeen @ R
(4) oAferesfEt ot afea 95 g=ar

M.B.O. stands for :

(1) Managing Business Organisation
(2) Managing Better Organisation
{3} Management By Objective

(4) None of the above

. &ft.ef. = et B

(1) H-fT faode smoresieE
(@) TR &= SATESteE
(3) BeSEve aE affadfyeg
(4) I9dTa ¥ @ B
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93. Which of the following statement is correct ?

94,

935.

(1) Weber, bureaucracy is characterised by humalnist ourtons

(2) Weber, bureaucracy emphasaies hierarchical Authority Relation
ship

(3) His bureaucracy is not imporsonal
{4} His bureaucracy is highly Flexible is behaviour

P # & $-1 &y gdr §

(1) =T Pt Nl a1 oferaT @ o vt ¥

(2) 3T Ht wTMd qIEITE M Tt qT T a7 @
(3) Gt Frpeane) rdgfREe W & '

(4) Ieh ArwTadt ame § s weh ¥

Who amorst the following is not connected with behavioural Manage-
ment school ? :

(1) M.P. Fallett (2) Elton Mayo

(3) Douglas Mcgregor (4) Heburt Simeon

Py & 9 29 amEeiw go w5 & gvras i ¥ 7

1) .49, fee (2) werE ALY

(3) =Tvwe IeRnTe (4) T |EHT

Which of the following is not considered the function of Top manage-
rment ?

(1) Making strategic decision

(2} Assuming organisational Purformance
(3] Arranging finance

(4) Dealing with emergencies

ﬁwﬂﬁ%—mﬁﬁmw&mﬂmmt?
(1) &H% A7z & fvig R

(2} WTSATHE WA HeiE

(3) TasT &t =|eareew F= T

(4) STIaEE & fges
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96. Which of the following is part of Management process ?

97I

(1) Planning (2} Organising

(3) Motivating (4) All of the above
P & | 9 g=y oftsar @1 \wT B 7

(1) aRE=AT (2) qEEAT HT
(3) STRETRr wAT (4) Igwr |

Which of the following is not regarded as an important skill for a
managet ?

(1} Technical {2) Administrative
(3) Human {4) Conceptual

ﬁﬁﬁ%m%ﬁﬁwn@ﬁmﬂmm
lll.a'qr-ﬁ#fr (2) WeTESHA
(3) AT 4] =t

Which of the following 'M’ is not one of the 4 Ms of organisational
needs 7

(1) Material (2) Money
{3) Machine (4) Market

?ﬁtﬂﬁﬂ%ﬂm‘@’waﬁrm&ﬂﬁmﬂ%4m.ﬂﬂﬂﬁ
7

(1) A= (2) #=
(3) W (4) HAE=

Which of the following trait of Mcgregor theory of the modern man-
ager should have ?

(1) Theory X' (2) Theory Y
(3) Combination of both (4) None of the above
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ﬁﬁnmuﬁqﬁaﬁarﬂﬂﬁmmﬂm-mm
8T =Rl ?

(1) e 'x 2 faera vy
(3) 2t = Fyeor (4) SUgEa 7 { wnf

100. Which ef the following is not considered a quality of a professional
manager ?

(1] Integrity (2) Leadership
(3] Customer orientation {4) Aggresion

Frsr & & S9-w1 o =aaifas gaaw o1 o7 T8 W o
®7

(1) wwfresT (2) T
(3) AEH T (4) SATEHHAEHAT
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ROUGH WORK
% e
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avafdai & fog
(FF QA& & FE7 JrATO TS 9T vy IAT-O% & A gt ov
Fam Hiet-andt avr-omyz 47 @ 0 fre)
T gt e & 10 i & st d 3 F 5w o wht g dheg # ok @
T e TR &1 TR e W R W e g aeh we-fries a A wed
N¥A9T T EC T | 1 A
T W7 A e oy wiv-aw & s, o a1 g # A gen ww W
# 3 o
FHT-Tx ST R Tawr war by 7 @ A ot 7 ot g w1 e aw-ow o fwr am
HuT INT-UX T N} PO [wwr wdm
S SFTFAF T THR-TF FFAE N FE-7S ) AN F Ay ww w
INT-9¥ & FOR g 0T 47 & A wpwars Faifn e or e vy e e qwt
g &1 &1 Tl srrvew wt oyl wve- giRNET T WIS AW 6T W e I v
g7 e
Fe Qo Yo TA I ATWATH WEW, WFIGRAET WoAr ¥ dT wow (W wy W) ™

FgrRweT av sgwae A Jite gwo Mo U wwwr wt Al W guftviary w1 sy
w#t H

Fagw WHE ¥ wY o} aftwds wF Frigw g s g eyt S oy TS Sy
W W7 WO NAT WG

Ty - ey § wrim wyT & wre dminem vt Rl i i i vy dwiRe 3w i
mmw#mﬁtmﬁ#wgﬂmm—wtmwwﬁﬂi
Fpi & arqwre 91 @ o & b

el ¥ & IR & [0 HEe U @ 3w W e w0 ¥ s g6 @ e =)
T U UF g9 A N0 90 W GE I T WA S

&3 & i ©w AT v g Wiew 3uv ween T o qwm 0w ww AN Tve wr I
78 37 o ¥, mh w2y & wn et mé it gt st ot @iy &1 0 e o e
¥ et o

W F & fay re-gRm & qEye § o et g aer se-gem & ofm ue
1 wEm &)

TheN & I T o qW Ay IwT- o8 T a6 o = d

TN WU B R e TORT W9R W A W a onRiy T B

ufe F% 3 wdan A sfea Al @ wEm et 8, @ aw Preafroe g Al
g5 Fa, W ghme



